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LSE-02 : ECOLOGY

Time : 2 Hours Maximum Marks : 50

Note : All questions are compulsory. Attempt the
questions as per the instructions given in

each question.

1. Choose the correct word from the parentheses :

5
(a) (Synecology/Autecology) 1is the study of
ecology of groups or communities in

relation to their environment.

(b) The process by which liquid water changes
into vapour at ambient temperature is

known as (evaporation/

transpiration).
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(Detritus/Humus) is the fresh or decaying
organic matter of plants and animals
origin.

When one species maintains or provides a
condition necessary for the welfare of the
other, but does not affect its well being by

doing so, the interaction is called .............

(commensalism/amensalism).

(Homo sapiens/Homo erectus) was the first

species to live a human type of existence.

Match the items of Column 1 with Column 2: 5

Column 1 Column 2

Lotic ecosystem (1) Grassland

Biosphere (1) Age distribution
Natural (111) Flowing water
ecosystem

(d) Abiotic component (iv) Atmosphere,

(e)

hydrosphere

lithosphere
Structural (v) Radiation
attribute
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Differentiate between any two of the following :
5+5

(a) Mineralisation and humification

(b) Pyramid of biomass and pyramid of energy

(c) Wetlands and estuaries

(d) Chamaephytes and cryptophytes

Represent any two of the following with neat

and labelled diagrams : 5+5

(a) Hydrological cycle

(b) Soil profile

(¢) Ecotone

(d) Age pyramids

Write short notes on any two of the following :
5+5

(a) Water adaptations in hydrophytes

(b) Tolerance range of environmental factors

(¢) Processes in succession

(d) Nutrient budgets

Prepare a detailed account on any one of the

following : 10

(a) Threats to wildlife

(b) Consequences of air pollution on
ecosystem.
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